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the balances on 31* March, 2015.

r—

Sodam Limited keeps accounts under integrated accounting system. The following are

Particulars

=

Stores Ledger Control a/c

| W.1.P. Ledger Control a/c
Finished Stock Ledger Control a/c
| Creditors a/c

Bank a/c

Debtor a/c

Fixed Assets a/c

Profit and Loss a/c

Depreciation Provision a/c
| 10% Bank Loan

Share Capital a/c

' Debit (T) | Cr;dit(;I
3,60,000 |
3,40,000
2,60,000
1,60,000
2,00,000
2,40,000
11,00,000 4
6.,40,000 |
1,00,000
2,00,000
14,00,000 |
25,00,000 | 25,00,000

24
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Transacti - .
| ctions during the year ending 31" March, 2015 were as under :

L y Particulars ®

Material Purchased on C redi:
16,00,000

Carriage inward 40,000
Materials purchased for special job on credit 30,000
Materials returned to suppliers 20,000
Materials issued to production 18.00.000
Normal wastage of materials 10.000
Abnormal wastage of materials 30.000
Materials issued for repairs 40.000
Productive wages paid 18,70,000 ‘
Wages paid for reﬁairing 100,000
Normal Idle time wages paid 10,000
Abnormal Idle time wages paid 20,000 T
Goods finished during the year (cost) v 48,00,000
Credit Sales 63,00,000
Cost of Sales \ 50,00,000
Factory overhead paid by cheque 8.00,000
Factory overheads absorbed 9,60,000
Administration overheads paid by cheque 2.60,000
Administration overheads recovered 2,40,000
Selling-distribution overheads paid by cheque 2,00,000
Depreciation (factory) 40,000
Payment to creditors 16,70,000
Received from debtors 64.4(?_000
Prepaid taxes (included in factory overheads incurred) 10,000

I purchase of fixed assets by cheque 1,30,000
Donation 1,70,000
Penalty paid 50,000
Income-tax 4,00,000
Interest on Bank Loan 20,000 |

mccounts .+ the Integrated Ledger and prepare @ Trial Balance.

OR
25 -~ P.T.0.
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1

The cost Ledger of Piyush Limited showed

i the following are the balances as at 1" 5
Particulars Debit (Y) | Credit (?)
Stores Ledger Control a/c ‘:"0,.01’){)1
| W.LP. Ledger Control a/c - 85,000
Finished Stock Ledger Control a/c 65,000
Factory Overheads Control a/c 4,000
Adm. Overheads Control a/c 2,000
General Ledger Control a/c 2 38 ,000
| 2,42 000T 2,42,000

The fnllnwlng transactions took place during the year ended 3 L T March, 2015 :

- . __Particulars (t)__
Materials purchased on Credit 4.00.000
Carriage inward 10.000

| Materials purchased for special job on credit 7,500
Materials returned to suppliers 5.000

Materials issued to production 4,50,000

Normal wastage of materials 2,500

Abnormal wastage of materials 7,500

Materials issued for repairs 10,000

Productive wages paid 4,67,500

Wages paid for repairing 25,000
Normal Idle time Wages paid 2,500
Abnormal Idle time wages paid 5,000
Goods finished dunng the year (cost) 12,00,000
Credit Sales 15,75,000
Cost of Sales 12,50,000
Factory overhead paid by cheque 2.00,000
Factory overheads absorbed 2,40,000
Administration overheads paid by cheque 65,000 |
Administration overheads recovered 60,000
Sclling—dist_n}_l_xtion overheads paid by cheque 50,000

Prepare necessary accounts in the Cost Ledger and Trial Balance for the year ended on
31* March, 2015.

16H-102 .-



Jyoti Limi
Yoti Limited manufactures two products : X and Y. Both products are produced with

the help of same machi
| achine = . X :
are as follows ry and similar processes. The detailed information about both

_ Particulars X Y
Units produced 15.000 10,000
Machine hours (per unit) 6 3
Direct labour hours (per unit) 3 5
No. of purchase orders 100 50
No. of set-ups 300 100
Matcﬁa! cost per unit (%) 100 200
Labour cost per. unit (3) 60 100
The costs of various activities are as follows ™~
L4
Related to volume 3,50,000
Related to Machine activity 2,600,000
Related to Purchase order 90,000
Related to No. of setting-up 1,20,000
15,20,000

Overheads are based on direct labour hours.

Prepare cost statemen

and under Activity Base Costing method.

2. (A) Explain the difference between convent

(B) Explain the advantages of activity base costing.

16H-102
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27

ional method and activity base costing.

14

t showing per unit cost and total cost conventional method

2% ]




3. ABC manufacturing company produces 40,000 units at 80% production capacity and
€ams an average profit of ¥ 50 by selling it at ¥ 250 per unit. |

Its cost of sales is as follows :

Direct Materials < 80

Direct Labour T 60

Factory Overheads ¥ 40 (50% fixed)

Selling Overheads T 20 (25% variable)

During the current year, they intend to produce the same number but anticipate that
(a) Their fixed costs will go up by 20%.

(b) Rate of direct labour will increase by 20%.

(c) Direct material price will increased by 5%.

(d) Selling price cannot be increased.

Under these circumstances they obtain an order for a_further 20% of their capacity.
What minimum price will you recommend for accepting the order to ensure the
manufacturer an overall profit of ¥ 15,00,000 ?

Assume that the fixed cost is recovered from the current production. 14

OR
3. (A) Explain the factors affecting on pricing policies 7
|

(B) Explain the advantages of Full cost pricing.

Dhriti Manufacturing’ Limited has recerved a contract for supplying 140 water

= pumps. They hayerjust completed an initial run of 20 pumps at the following
cost : e ) 7
______: Particulars _l D |
| Direct Material (20 x ¥ 20,000) 4,00,000
Direct labour (80,000 hours at < 4) 3,20,000
Tooling cost (reusable) 80,000
Variable overheads (T 1 per labour hour) 80,000

Fixed overheads |_ 2.,00,000 __i

An 80% learning curve is thought to be pertinent in this case. The marketing
manager believes that the quotation is unlikely to be accepted if it exceeds
Z 42.00,000 and as the company is short of work, it believes that the contract to be

vital.
You are required to comment whether it is worth accepting at % 42,00,000.

State your assumptions.
OR



(A) Explai Tit
Plain the difference between Cost Control and Cost Reduction,

(B) The usual learning curve

model is as follows :

where y « Average time per unit

a = Time for the First unit

X = Cumulative number of units

b = Learning co-efficient

Calculate total time for 51 to 60 units,

If a= 100 hour and b = - 0.152 for 90% learning curve.

Following information is given :

log 1 =0.0000 Antilog 0.7418 = 5.518
log 5 = 0.6990 Antilog 0.7297 = 5.367
log 6 =0.7782

OR

(B) Explain the methods of Cost Control.

5.  Select the appropriate alternative.

14

(1) According to Integrated accounts which of the following statement is true ?

(2)

(a)
(b)
(c)

(d)

According o Integrated accounts which of the

(a)
(b)
(¢)
(d)

As two separate set of books are not to be kept so work is not duplicated.

It has been possible to introduce mechanization of accounts.
there is.no'need to reconcile the profit or loss of books of financial accounts

and cost accounts.

All of the above.

following statement is false ?

As both types of accounts are combined, it does not create confusion.

As both accounts are integrated, if any expenses is left out, it can easily

traced out.
Financial accounts and cost accounts shows different profit or loss.

All of the above.

29 L



(3) According to Non-integrated acc

(a)

(b)

(¢)

(d)

ounts which of the following statement is false ?

Recovery of factory overheads is debited to work in progress ledger control

account,
Recovery of administration overheads is debited to finished stock ledger

control account.

Recovery of selling & distribution overheads is debited to cost of sales

accounts,

None of the above.

(4) Which of the following is the character of activity base costing ?

(a)

(b)
(c)

(d)

The overheads are absorbed on the basis of benefits réceived by difterent

cost centres from various activities.

Attention is centred on cost drivers in order to control the ecost.

The overheads are apportioned not oyer various departments but over

various cost pulls.

All of the above.

(5) Which of the following activities is connected activity with the cost driver of no.

of purchase order ?

(a) Issue of purchase order
(b) Analysis.of proposals
(c) Negotiations with suppliers
(d) All of the above
(6) Which of the following e ‘es 1s connected activity with the cost driver of no.

of workers ?

(a)
(b)
(c)

Training
Recruitment

Interview for promotion

| (d) All of the above

30



(7) W’hlﬂh o owi em ?
f the foll .
inE Matters are not included in inventory control syst

(a)

(b)
(c)
(d)

ABC system of iny €ntory control.

FDL o I
INg various Quantity levels of inventory.

Classifying and 1dens; fying Inventory.

None of the above,

(8) Which of the following formula is not true ?

(a)
(b)

(c)
(d)

Ord
ering level = (Maximum consumption X Maximum time)

Maxi = ' ini
imum level = Ordering level ~ (Minimum consumpfion x Minimum

time) + Ordering quantity.

Minimum level = Ordering level — (Average consumption X Average lim’ﬂ)

None of the above

(9) Which of the following formula is for overheads recovery rate per hour ?

(a)
(b)
(c)
(d)

(10) Which of the following caus

of foresight on the part of top management or absence of planning or

(a)

3 (b)
©

Actual overheads + Actual hours

Budgeted overheads Actual hours
Actual overheads + Budgeted hours

None of the above

es of labour turnover rate is avoidable cause ?

Lack

Defective planning

Dissatisfaction with job

Relations with Supervisors

“(d)’ . All of the above

31
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(11) Which of the following cost is/are affected by learning curve ”

(a) Direct wages

(b) Cost of production
(¢) Variable overheads
(d) All of the above

(12) Which of the following factors is not affecting pricing policy ”
(a) Cost of production
(b) Quality of the product
(c) . After sale services

(d) None of the above

(13) Which of the following matters are related to target pricing ?
(a) Sales maximization

(b) Keep out competitors
(¢) Desired rate of return on capital employed in a product

(d) All of the above

14) Which of the following factors is a limiting factor in product pricing ?
(a) Consumers demand and perception
(b) Government laws
(c) Competitors reaction
(d) All of the above



